B 2> Il B B [ 4 0

- EmECEkER (g IAxE (F
i B (HX) W i NEFD | A EE) | Mg E)
—. M
1 5 EPH 90 50 35
2 iy fif %It 120 40 30
3 i R i BEM %7t 180 70 35
4 HeM L I ey 160 70 35
5 oA 3 7 EPH 150 70 35
6 H A e H ot 11000
7 R HJt 20000 10000 5000
8 KR 5 A H Jt 18000 10000 5000
9 1P AL Kk H ot 14000 10000 5000

R

10 HAth 35k 7 H o 9000 10000 5000
11 4f] ) ¥ T 90 50 35
12 3 i e 7 22 4R £t 270 30 30
13 At 39 T £t 170 30 30
14 WHE =R £ 70 140 40 30
15 IR RR - 200 50 30
16 ) IEDA I 150 50 40
17 (G0N A% A Eo" 320 50 40
18 HAth 35k 7 EP" 290 50 40
19 Eﬂﬂ%%ﬁ e 200 50 40
20 17 15 £ 70 110 50 35
21 T ¥ T 90 50 35
22 A 3 T eV 80 50 35
23 iy & £ 70 200 50 40
24 7 B EP" 180 50 40
25 B - 200 70 40
26 W hi A [FIHERR I 200 70 40
27 Hik %70 140 70 40
28 HoAh 3 7 e 120 70 40
29 W/ * o 190 55 40
30 L €8 51 eV 380 70 40
31 £ &) B 41 E T 180 70 40
32 P £ 70 130 40 35
33 Bl B R &% eI 175 50 35
34 WK eV 200 50 35
35 FL A 3 T £t 155 50 35
36 AP £ 70 160 50 35
37 e A EP 90 40 30
38 HH & B eV 80 40 30




- R %% (R Ik 2R (R | A% (g

i E 5 (M [X) W i METD | AFE | M gF
39 HAth 35k 77 EPH 70 40 30
40 LIS FE T 100 40 30
41 Z £ 70 130 40 30
42 oK 75 %7t 110 50 35
43 JEH = 1i 5% e 180 50 35
44 FAth 35k 77 %t 130 50 35
45 Bl EE 2 7 1 i 125 50 35
46 IR 77 I %7 130 40 35
47 Z= [ 24 EPH 140 50 35
48 KR eV 110 50 35
49 B, LA %70 90 50 35
50 e Ath 3k 7 e 80 50 35
51 BTN 3 ey 220 55 40
52 Bl & ¥ e 200 38 30
53 Jé ¥ /K E T 140 50 35
54 B £ 70 400 50 35
55 FE I B ey 100 40 35
56 Z1H eV 160 50 35
57 +HH %R %70 105 45 30
58 7 3 45 A5 R £ 70 150 45 30
59 HAth 35k 77 EPH 90 45 30
60 IR eV 350 50 35
61 RIER e 160 60 40
62 s W 1900 500 300
63 ] wm 1200 500 300
64 =R EPH 150 60 40
< |3EM

65 Eas i hn |5 8 A8 A EP" 130 38 30
66 PPN EPH 100 38 30
67 A 3 T %t 90 38 30
68 % 3 [ %t 120 50 35
69 E £ 70 110 48 35
70 AR 1 U %t 120 50 35
71 JEE % EF FE T 130 50 40
72 B 7K e ) P Eo" 180 55 35
73 F5 LA %7 130 32 30
74 JLH I F T 130 55 35
75 2 % A L EPH 210 50 35
76 JB AL FE BLE E G 110 50 35
77 -3 F T 170 50 35
78 FE 5 K XU 240 50 35
79 H e eV 195 50 35




- {15 2% OB [Pk & 2 Cfg | A 9%
i E 5 (M [X) W i M | AR
80 F) bE E eV 160 50
81 S ED) eV 400 60
82 A2 £ 70 150 45
83 JLN I LE 2H %7t 170 45
84 % Je B % T 100 40
85 A B 1 £t 220 40
86 B Ein %7t 100 35
87 O £ 70 120 45
88 Je HF Bif A5 B4 % T 270 60
89 i 25 eV 300 60
90 FLAth 39 T %70 250 60
91 F B R £ 70 155 50
92 rH eV 200 50
93 75 Pt eV 130 40
94 Ul £t 150 35
95 LY %7t 280 50
96 5k eV 170 50
97 FEfu A B eV 155 50
98 A %70 160 60
99 ZE N R £ 70 165 50
100 X b S eV 170 50
101 hnE eV 180 60
102 |FRE %7t 280 50
103 |[fEFEgNiE =R £ 70 140 50
104 |BHEEEE eV 130 55
105  |BH/K eV 145 50
106 |Ef5 %70 220 50
107 |RIEJLATE %7t 200 50
108 |hngh F T 250 50
109 [(HFREWT 15 R W eV 180 50
110 FAEER E T 210 50
111 e Ath 3k 7 £ 70 160 50
112 NI (& eV 220 50
113 NI CAiD eV 170 50
114 B K e 170 50
115 %i%ﬂ]%% %7t 170 50
116 | Ly E T 170 50
117 |k ;;jfﬂ;“ﬂm SE LI 170 50
118 S - 210 50
119 5 3t eV 150 50

| S

S| R




Y ) YA~

% GBR) i 1l i ‘i‘i() “i%é) nE
120 HAth 35k 77 EPH 130 50 35
121 g K L F o 140 35 30
122 [t == Eo" 150 50 35
123 |FI b B %7t 220 50 35
124 |43 /A EP 120 50 35
125 (BB eV 120 40 35
126 |® 9t %70 200 40 32
127 | S 4 F T 130 50 35
=. 0 |BRM

128 24 Jé ik A 0 0 eV 120 45 40
131 JE Hr 1H 8% %70 120 50 40
132 e Ath 3k 7 e 80 50 40
133 | H i eI 120 50 35
134 |Hri& el KK 7o 140 30 25
135 | E %70 100 40 35
136 | % Hh WP %7t 180 40 35
137 B /R ELJE R %t 150 35 30
138 |[fRIn A IE EyIn 110 45 35
139 | Hy T B % Tt 285 45 40
140 M R v e 200 45 40
141 R PERR R, X %t 170 45 40
142 R R IR 5T eV 150 45 40
143 FLAth 39 T %70 140 45 40
144 |37 Mg % £ 70 120 45 35
145 |[$ B 4 0 KK JC 120 35 25
146 | JET KK 7o 120 35 25
147 |G = H % Tt 130 45 40
148 HAE £ 70 130 45 40
149 HAth 35k 77 EPH 80 45 40
150 | 2€ FE g e 150 45 40
151 NN E T 150 45 40
152 |#s&H T %7 150 45 40
153 TR W B (A YL ey 230 45 40
154 FAth 35k 77 eV 80 45 40
155  |BEF i Eo" 210 45 40
156  |TFESHHE %7 120 45 40
157 | 2% 5] % i (AT EPH 120 40 32
158 R F eV 100 40 32
159 FLAth 39 T Eo" 90 40 32
160 H % 2 F T 180 45 40
161 WSS e T IE R 2 eI 200 45 40
162 B $2 A FE T 200 45 40




Y ) YA~
Fe MR OB T UL U LR Ot
163 HAth 35k 77 EPH 140 45 40
164 |EE/RZ eV 90 45 40
165 | = N £ 70 190 50 40
166 HAH 7 £ 70 130 50 40
167 HAth 35k 77 EP 120 50 40
168 | MR, e Mk 7t 150 60 38
169 e B ¥k 7o 170 60 38
170 1525 AR KK 7T 180 60 38
171 HAth 35k 77 KK JC 120 60 38
172 |[faf % g KK 7o 150 60 38
173 Ra] 4 By 455 P ¥k 7o 170 60 38
174 e Ath 3k 7 KK JG 130 60 38
175 |& KA 4 KX JC 160 65 38
176 K= Mk 7t 140 65 38
177 ok 2 12 5= ¥k 7o 120 65 38
178 e Ath 35k 7 KK JG 110 65 38
179 Eb 1) B KK 7o 160 60 38
180 B h A KK 7o 140 60 38
181 i e ¥k 7o 150 55 35
182 |[iEH g MR TG 180 60 40
e

183 ;%igﬂ%h’ﬁ‘ﬁ%‘ %K I 160 60 40
184 FL A 3 T WK T 150 60 40
185  |FH¥tF KR TC 125 60 38
186 | ARER KK JG 160 55 38
187  |%B/R= KK JG 160 60 38
188  |HI& T ¥k 7o 130 60 38
189 |35 KK 7T 145 60 40
190 [#Ew - 160 45 50
191 . E T 120

192 A £ Kk 7. 35 30
193 ) 7 Rl £ 70 180 45 45
194 |3t EP 280 80 50
195  |PH&E E T 200 80 50
196 | Eo" 200 80 50
197 [Ei+ %7t 230 70 50
198 VK& - 260 65 50
199 |5 HAh KK JC 160 38 25
200  (ZEJR4ENE Eo" 120 40 30
201 |[EE KK 7T 90 30 22
202 |DE[E & 3 WL 200 45 35
203 SMWiRE. BT & L5 140 45 35




Y ) YA~

Fe MR OB T T A LA Ot
204 HAth 35k 77 LB 125 45 35
. |3EW

205 | 16 & i £ 70 260 55 45
206 IH 41l %7t 250 55 45
207 N TR -V 180 55 45
208 P FE T 230 55 45
209 Ay %70 270 55 45
210 Z e £ 70 260 55 45
211 A2 L - 250 55 45
212 2R FE T 195 55 45
213 FL A 3 T % Tt 200 55 45

. BERE. 22, K| -

214 [InERK UL A5 R £ 70 210 55 45
215 i A AR eV 210 55 45
216 At 39 T %It 190 55 45
217  |[S&VGE o 75 5 £ 70 150 50 45
218 FHAE YN eV 120 50 45
219 wE eV 160 50 45
220 At 39 T £t 150 50 45
221 £ P £ 7 ) I %7 160 50 45
222 EHRT - 240 50 45
223 BN~ eV 260 50 45
224 At 39 T %It 150 50 45
225 |F % %7t 160 50 45
226 ﬁ%ﬁlﬁuz %t 180 50 45
227 |JBR £ R FE T 150 40 32
228 (BTAR AE £ 70 190 50 45
229 |G hiE EP 135 50 45
230 |® A 2% 3 Y =F E T 135 47 45
231 2 T %E 70 120 47 45
232 GAEE M 8 L B B (32T 140 47 45
233 e Ath 35k 7 eV 100 47 45
234 (HEHfE LI SN I 190 40 35
235 7 flE PR £t 110 40 35
236 -+ B 9l £ 70 120 40 35
237 o Ath 35k 7 Xt 100 40 35
238 EE 2 W I 250 60 45
239 [T Eo" 160 50 45
240 | E %7t 200 40 37
241 HEL ¥ T 135 45 45
242 (KA GHIE I 280 45 45




- {15 o Chg [Pk & 2 (g | 2% 2
¥ B xR (HX) W i M | AR | A
7 48
243 %Eﬂm = %% 220 60 45
244 R E ESo" 140 40 40
245 |BEFI4ETE %7t 110 36 30
246 |J@$L)K - 120 45 45
247 | HEF I 140 50 45
248 RN Eo" 110 36 30
249 | %7t 180 45 43
250 |[(HERK F T 150 45 45
251 Z KJen I 150 45 45
252 |ZKEew FE T 200 45 45
253 e £ 70 220 45 45
254 |ZEAPE E 200 45 45
255  |fEEE EPH 200 45 45
256 [EFHTIEEN Eo" 120 45 40
E NP KK
R

257 (K F I b2 A I 210 60 50
258 e By A 5L BT UE Eo" 180 60 50
259 MIRAL BJE e 200 60 50
260 e Ath 35k 7 EP 160 60 50
261 vt = E T 180 60 45
262 [BEEEIE Eo" 170 47 45
263 |G 75 BL %7t 190 45 50
264 gl P 120 45 50
265 e Ath 35k 77 %t 110 45 50
266 %ﬁﬂz%ﬁnw P 350 55 50
267 |E W E RV ¥ T 120 40 30
268 | AHIRBE I 120 55 35
269  |FLE BT A Eo" 220 55 35
270 |[REEEH F T 195 55 35
271 #m eV 160 60 35
272 M =5 E T 180 60 35
273 |FE e HE R £ 70 180 60 35
274 MPIIHE £ 70 200 60 35
275 EREHEEE eV 140 60 35
276 iAJE B EPIn 240 60 35

VG IV,






